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Tangents &Normals(polar form)
Angle between Radius vector &Tan
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1et 0 be the pole and OX the initial line. -
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s i measured and P be any point (7, ) on it such thatP m
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Let O—P, so thar 86—0and + PON—> £ RPO=o, where g is the
angle berween the radics vector OF and the tangent PR.

Hence f : fan e '—.—rf;;.

Again from the right-angled APON,
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Agzin from the right-angled APQON,
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Hence the polar sub-normal =

du 1 dr
Note If u.._’_., then 55 = =77 * @

do
Polar sub-tangent= — 7y

Jllustration. Show that for the curve r =¢€9, the polar sub-ta.ugcm
is equal to the polar sub-normal.
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Solution. The curve is r=ed,

Differentiating with respect to 6, we get
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.. Polar sub-tangent =r* do =r2, l =r,
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and polar sybh-normal = E =r.

Perpendlcular from pole onTangent
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{ ON be perpendicular drawn from the pole O on the izogent
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